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1 What is the dimension of resistance 7

gfergry o oo wr R %7

(A MU IPT3 472 (B) MELPT3 472
© M L?T247 D) MU L2T3472

2 Which of the following is not a part of electrical cable ?
{A) Wax (B) Conductor
(C) Insulation (D) Bedding

P Y e T S A dET E T A T

(A) =W (B) =W
(©) TR D) W

3 Which one of the following electrical cable is a type of iﬁﬁﬁi&tﬁd cable?
(B) Copper cable
(D) PVC coated cable

(A) Aluminium cable

(C) Flat cable

frer ¥ ¥ SgeEs Bew A 7
(A) ueghfas Sw

(C) w= HId

(B) HX e
(D) el sreif e

4  The rating of transformer may be expressed in

(A) kW (B) kVAR

(C) kVA (D) Horse Power
ThEET & T # @R @ W § |

(A) freare (B) & g

(C) (D) & T

5 On which principle transformer works ?

(A) Self Inductance (B) Mutual Inductance

(C) Self Capacitance (D) Mutual Capacitance

zamer 5 e W ad s ¥ 7

(A) @& W (B) erdrg Uyw

(C) @ aifar (D) == aTfa
61_(1922)] == 2
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&  The copper loss of a transformer is given by -
( = Current, & = Resistance)
T H @ e W A B © -
(I = @, R = whs)

AN B iTK
iyf’% AVl

(C) I’R D) 182

7 Output of a digital Multimeter 18 i
(A) mechanical (B) optical
(C) electrical (D) analog
Efiew ARMICT & FPYT I
(A) uifs (B) arfiteesa
(C) fagdm (D) @

8 - Sensitivity of a voltmeter is expressed in -
% dleeHiel o gImear fead veiia @ s v 7
(A Q/V By Q/4
©) v D) ri4

9  The Channel Add in digital storage oscilloscope depends on -
(A) Memory (B) Reference cursor
(C) Vertical amplifier (D) Input attenuator
e e o ¥ v o g w Bt s & 7

(A) |l (B) Twig oR
(C) weatuy yatls (D) §ge qRmEeT

16 Half wave rectifier has maximum efficiency of :
aref T Rt @ eifteeem wwar o ¥ -
(A) 40.6% (B) 81.2%

(C) 78.5% D) 50%
11 Bridge rectifier is an alternative for -
(A) Full wave rectifier (B) Peak rectifier

(C) Half wave rectifier (D) None of these
i el sow w Rew ¥ -
(A) oot gim feserly (B) Brex sl

(C©) e g Rl (D) T ¥ &wE 7
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How many diodes are used in a bridge rectifier ?
e teer A T s s Y e ¥ 7

(A 2 B) 1

Cy 4 D) ¢

‘The output of IC7805 regulator is -

(A) -5 Volt {B)y +3 Volt
(C) -7 Volt (D) +5 Volt
IC7805 TqweT &1 aSeye g ¥ -

(A) -5 am= (B) +3 aw
(C) -7 9w (D) +5 =

What is the drop out voltage in a three terminal IC Regulator ?

A 2w o P Y s e s s B & 7

(A || 2|7, | +2r B |Vin| < |Vo|-2¥
© |Vl =171 O V] < |7,]

To get a maximum output current, IC regulations are provided with -

(A) Radiation source (B} Heat sink

(C) Peak detector (D) None of these

st P oo W 6 % v, IC ffem % Y wEe feur W ¥
(A) Rfe a9 (B) @ Rim

(C) fret dqEs D) & ¥ o5 =

An Op-Amp clamper circuit is also referred as -

(A) DC cutter (B) DC inserter
(C) DC lifter (D) DC leveller
T uiEeE vasds eeaT aiay o wEr S £
(A) & & (B) 3 ¥ dwex
(C) 4 Wwy (D) & & wEwx

A circuit that removes positive or negative parts of a waveform is called
(A) Clamper (B) Clipper

(C) Diode clamp (D) Limiter

5 Uiy W U a1 B e s weneTe e e ¥ wm weann B 7

(A) w™T (B) Reux
(C) =z v (D) fafrex
1922) ] w§m 4 [PT.O.
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The time period of a monostable 555 multivibrator is given by -
2

e ¢ o, A
T AETRSA 555 qriEsel o uey oy ey ¥ -
(A) T=033RC (B) T=1.1R&C
(Cy T=3RC ) 7=RrC

Which pin is used to take output signal in an eight pin timer IC555 7

a1re e o TeEe 10555 % ol e § e g o s ¥ 7
(A) 1 B) 3
(©) 5 ) 7

SMPS is used for -

(A) obtaining conirolled ac power supply.

(B) obtaining controlled dc power supply.

(C) storage of dc power.

(D) switch from one source to another.

wgua ey, (SMPS) sual fer wwr § -

(A) Trifa st g Rge et we e % MY
(B) Trofm Reurn g oy o9 & & oY

(C) Temeyry gim & Yoo & f9 )

(D) T & ¥ T W T RE w7 & R

SMPS are based on the
(A) Phase control

(C) Chopper

T aLEg. (SMPS)

principle.
(B) Integral control
(Dy MOSFET
Ryt ot emenia ¥

(A) =R P (B) st s
(C) =i (D) e

An AND gate -

(A) Implements logic addition.

(B) Is equivalent to a series switching circuit.
(C) Is equivalent to a parallel switching circuit.
(D) None of these

W@ AND = -

(A) e WE T HET L |

(B) ws gew Ratm aituy & gUat 8 &
(C) uw guiay Ref ooy $ suet BT §
(D) = & &R T

N
I
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s
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13 Which of the following is not a type of coupled amplifier 7 3 28
(A) R-C coupled amplifier (B) Transformer coupled amplifier
(C) @szi coupled amplifier (D) L-R coupled amplifier
e & ¥ P SUE TIYHe B YeRK T8 T 7

{Choose the correct statement -
(A) MOSFET is an uncontrolled device.
(BY MOSFET is a voltage controlled device.
C) MOSFET is a current controlled device.
J

(A) R-C woee yadls GO BURE YgHE . :
\? QR ?f jﬁ) R *g"fﬁgn (D) MOSFET is a temperature controlled device,
) TO{EE HUTE Yqus {] [ .R wurs gas

(C) Gl (D) L HUTE T T8 e @ﬁe =

(A) Aiwtse uw st ghem ¥

24  Which of the following is not a property of an ideal operational amplifier? . Y N
(B) wighe UH Owew ulE g §

(A) Zero input impedance (B) Infinite bandwidth i

(C) Infinite open loop gain (D) Zero drift voltage ! (c g%i‘%%i% T ar P g d
Preferfee % & BT T omest ShparTs yate @ O T R 7 (D) e e o b g o
(A) s Py wiwmr (B) org ¥o 9

{{;‘} @;‘;{'{:{ @@T 79T @ {ﬁ} 33‘;;\3‘;‘ %q,z Eﬁff%\?? 2% F‘AG&&E&%%QQ ?;‘5 i:;;{}p;@ éﬁ

(A) Transmitier

25 What is the unit of slew rate ? (B) Radio Receiver
(A) i second/volt (B) volt/usecond (C) Between Transmitter and Radio receiver

(Cy It is a ratio, no units (D) ohm/second (D) None of these
g &1 (slew) @ g8 T § 7 EIEREIE] % fear s ¥ U
(A) pIde/ERE (B) diee/uddE (A) ZiEHeR
(C) ¥% u& ol &, & 366 & (D) oim/EEs (B) Year frda
| (C) ZhwRT o g fEey & 9
26 Full form of IGBT is - (D) T q B T
(A) Integrated gate bipolar transistor
(B) Insulated gate bipolar transistor 38 Which of the following is not a type of amplitude modulation ?
(C) Integrated gate bisepara%;gr transistor P & ¥ B UM WER W eR T § 7
(D) Insulated gate biseparator transistor (A) VSB (B) SSB
IGBT 1 q0 7 & - (C) PSK (D) DSBSC
(A) zUeE T IRUE ZiRE
(B) TEES 2 SEUeT T 31 The amount of frequency deviation in FM depends on -
(C) zTnee ¢ TEawel gey (A) Amplitude of the modulating signal
(D) TS T FIEUUE 2T (B) Carrier frequency
- {C) Transmitter amplifier
27  Which of the following terminals does not belong to the MOSFET ? (D) Modulation frequency
(A) Drain (B) Gate FM % ergfa foomm feg s Pk s & 7
(C) Base (D) Source (A) wismleT e & o™ g
frafafea & @ &=-w1 2fisw MOSFET (wighe) & ddfug =i & 7 (B) Sy smgha 7
(A) sEE (39) (B) (C) giasiet yads w
(C©) @R (D) €@ (D) ARy YRy W
61_(1922)] = 6 [PT.O. 61.(1922)] + ; P10




32 A distorted signal of frequency £, is obtained from a sampled signal if the sampling

i~
pe

38 The basic requirements of transmitting antennas are :
Low sides lobes

%@Q}@m?’ fiis - o ( L N {A) High efficiency {B)
?g%{ T S S, ¥ T s R § W Sgi f, B pd R R s 1 e (C) Large signal to noise ratio (D) All of these
R T G W A e § -
(A) fo>2fn B) Jfi <2fn (A) =g o (B) F=r ued o
C) fs =2/ D) 22 ‘ (C) vz SNR (R wdf sl a7 o) (D) dwsd
3 A multiplexer 18 known as - 39  What is the frequency range of audio frequencies ?
(A) Counter (B) Decoder ge1 Sgraal & g TuE @ oE 7
(C) Data selector (D) None of these | (A) 0 Hz — 100 kHz (By 20 Hz - 20 kHz
TF rreedl & @9 § W W - | (C) 500 Hz — 100 kHz (D) 350 Hz — 350 kHz
(A) &R (B) Ty é
(C) srer Rywaey (D) T ¥ &E FE 40 By which name is an ionospheric propagation, also known as 7
{A) Sea wave pmwgémm (B} Sky wave propagation
34 How many selection lines would be required for an 8 line to [ line multiplexer ? (C) Ground wave propagation (D) Space wave propagation
8 wEw g 1 W TR % WY e gata @Al %0 Sasadar B ? SIS TR & B oy 7T @ o s s § 7
(A) 2 (B) 4 (A) & 97 weE (B) ®E o9 WUIIH
(C) 8 D) 3 (C) o= I9 WUNeE (D) «F I D
35 The semiconductor devices that radiate light or utilize light are known as - 41 What is the width of data bus in 8051 7
(A) Active devices (B) Electric devices 8051 &t 327 §@ W O fead Ty ¥ 7
(C) Optoelectronic devices (D) Passive devices ‘ (A} 16 bit (B) 8 bit
TE FUTS SR W YHI9T @ Swafva Ul SYNET B § o Beery § 7 (C) 24 bit (D) 32 bit
(A) wfepa Rersd (B) sz fsamsd
(C) oeaeirs asy (D) Ty oy L 42 What is the file extension that is loaded in a microcontroller for executing any
- instruction 7
36 What is the principle of fiber optic communication ? £ g TE BIEE UEUSYH o d PRy o il e & R e gemidee o e R e
{A) Amplitude modulation (B) Total internal reflection ES
(C) Refraction (D) Diffraction - (A) .doc (B) .
w yersia avg dor e Roers o smaf@ ¥ 7 w (€) .xt (D) .hex
(A) ST AT B) oof amﬁas ERERE |
(C) ormem (D) Toee o 18 | 43 How many pins are there in 8051 microcontroller
5 8051 wEmmIwT § e R B ¥ 7
37  Which of the following transmission media has the highest transmission speed in a (A) 32 (B) 16
network 7 1 (C) 8 D) 40
(A) 'Zﬁviszeé paiz‘ cable (B) E%Pm’%ca‘g cable
51 &1 Thaet ¥ e 0 e e s & 7
(A) femes g’“ e (B) fog o (A) ACC (B) TMOD
(C) wedr e (D) ditesht HIET (C) PSW (D) THO
L(1922)] 4 8 [PT.O. 61_(1922)] = 9 [PT.O.




45 The solar cell converts :
{A) Chemical energy into electrical energy.
(B) Solar radiation into electrical energy.
(C) Solar radiation into thermal energy.
(D) Thermal energy into electrical energy.
T W gkl s ¥ -
(A) vErahw S ¥ REg e 8
(B) dr fafswo & fogg oot &
(C) dx ffFer € orfg et &

T g

(D) dm St ¥ g ot

46 Solar cell is also known as -
(A) Photo valve cell (B) Photo volt cell
(C} Photovoltaic cell (D) Voltaic cell

(A) w= Trg (B) W O 9
(C) wrRERes ¥ (D) afws @
47 The symbol of LED is -
LED &1 wdis fogg & -
s 4
(A) | ® —

)

48 LED emit light only when it is -
{A) Reverse biased
(C) Both (A) and (B)

(B) Forward biased
(D) Nong of these

a3 Saw ol vy salva @ 9w 9 R
(A) 959 s (B) o srafsg
©) (A)= (B) T+ (D) 9 ¥ o &

49  The colour of light emitted by a LED depends on -
(A) lts forward bias (B) Its reverse bias
(C) The amount of forward current (D) The type of semiconductor material used
T TA.EE. ETO SR YN B T 39 9 PIET el § -
(A) 3T9% o ST WX (B) 6% 99T §OET WX
(C) omrem & W9 9 (D) orelawe @l & 9B 9T

61_(1922)] = 10 [PT.O.

50

52

53

54

What are the primary colours of a colour T.V. 7

{A) Red Green Blue (B) Blue Black Yellow
{C) Red Cyan White (D) Yellow Green Red

¥
wsd

o & & & vt T B9 v
A) @ BQ AT
C) W WE ¥

g

In 7 segment display, how many LEDs are used 7

o

7 we ouw ¥ o wwiE @ waw R e ¥ 7
INE. B) 7
() 10 (D) 9

Which of the following lamp is used to emit light in LCD T.V. 7
(A) LED {(B) Neon lamp

(C) Sodium lamp (D) Fluorescent lamp

LCD 2@ % 7 % § oW ©Y TN 90 &3 & WY YgE B & 7

(A) a3 (B) ot du
(C) wifsaw wu (D) w0E= @

What is the full form of GSM ?

(A) Global Special Mobile

(B) Greater System Mobile

(C) Global System for Mobile Communication
(D) None of these

HogeE. & gw am ' ¥ 7

(A) EE WIE ANER

(B) X foww "AEme

(C) e ¥R ¥ o wEw e

(D) T ¥ aF 7@

What type of cell shape is generally preferred in GSM 7
(A) Triangular (B) Hexagon
{C) Octagon (D} Pentagon

GSM ¥ fore wanrd & O gk T &9 H ) 9l 8 7

(A) BrgemEr (B) weHEETR
(C) srzysr (D) dEvETETT

61_(1922)] o= 11



58  Which one of the following is not an example of circuit simulation software ?
e o wE—a Oy Saeh ofRdut w wemt wE ¥ 7
(A) PCM (B) Verilog
(C) MATLAB (D) VHDL
36  Smallest change which can be detected by a sensor is called -
(A) Resolution (B) Accuracy
(C) Precision (D) Scale
qsY Bl TilEaT S U% W9 UG W gl 5, 98 @Ed § -
(A) T (B) =
(C) g&a (D) =T
57 Which of the following is not an analog sensor ?
(A) Potentiometer (B) Force-sensing registers
(C) Accelerometers (D) None of these
Frefefaa & ¥ @F-w1 o T deT W T 7
(A) EREERT (B) wrE—dfiT ey
(C) uwmTeT (D) ¥ ¥ B o
58 Which of the following is not a characteristic of ideal transducer ?
(A) High dynamic range (B) Low linearity
(C) High repeatability (D) Low noise
Frefafen o ¥ B omeyt TiasET & fadver WS ¥ 7
(A) = Rade ToE (B) = Rawar
(C) = gTugRa (D) f=1 9l
59  Which of the following represent active transducer 7
{A) Strain Gauge (B) Thermistor
(Cy LVDT (D) Thermocouple
Prefefens & & @r—a1 5T ZiasTE B ARIRT B § 7
(A) ferphr e (B) uffex
(C) waaLden (D) uHETw
60 Which of the following is not a disadvantage of semiconductor strain gauge ?
(A} High gauge factor (B) Low linearity
(C) High cost (D) Temperature affects more
e A ¥ e ST R W A i A & 7
(A) et T Fex (B) & YRgwen
(C) oifts wma (D) @ & il yuE
61 _(1922)] == 12 [ PT.O.

61

62

63

“ 64

65

66

The only function of a MOT gate is to -
(A) Stop a ﬁigﬁﬁi (B) Start a signal.
(C) Invert an input ﬁ*%gnaé {D) Act as a universal gate.

AN

wp NOT e o uears & § —

(A) @ = 98 BOT (B) €0 & 38 HCA |
e P 2 P : PR g s Gl 3,
(C) uw Py e wf uwe | (D) & e g & A B B ¥ |

Which of the following is uni

‘%?mﬁ?%a%*mwmiﬁﬁ%%*% .

(A} OR (B) NOT
(C) Ex-OR (D) NAND

According to OR gate truth table, 4 + 4 is equivalent to -

(A) 4 (B) 24
© 4 (D) None of these
OR e goar Rl & PemmER A + A T & -
Ay 4 (By 24
© 4 (D) T ¥ BE 7@l

7

What will be the output of Ex-OR gate for inputs 4 and B 7
= TR 4 W@ B % W Ex-OR I &% o&ege & & 7
(A) AB+ AB (B) AB+ 4B

(C) 4B+ AB (D) 4B

Which of the following is not a sequential circuit 7

{A) Flip-Flop (B) Counter
(C) Shift Register (D) Multiplexer
= & S ewive ity w8 ¥ 7

(A) Rerg—wary (B) =X

(C) Proe e (D) wRIeeT

A flip-flop can stor

{A} 1 bit of dam (B) 2 bits of data
(C) 3 bits of data (D) 4 bits of data
T RIS B GEal § -

(A) s 1§ (B) ser & 2 fae
(C) =1 % 3 e (D) T ¥ 4 4

61.(1922)] e 13



87 'The SR flip flops does not accept the following input entry - : ) A
p 1o g mp 72 How many flip flops are used in asynchronous decade counter 7

A) Both inputs zero (B) ZercatRand 1 at § N

;L}} Zero a{S and one at 8§ ;L‘% Both inputs are 1 s ftrs wee & fae fmw s & el o ¥ 7

TE.a. R G Prefiie Py shite @t @ w8 B § - A B3

(A) = Prst W sF (B) R WX /@ 8% S W © 4 o35

(C) ST @ N R W (D) == FEsl W

73 In the given figure, if all inputs are loaded simultaneously and output is taken bit by

68  Parallel adders are - bit, &mrg what will be the mode of operation for a shift register 7

(A) Combinational logic circuits (B) Sequential logic circuits Input

(C) Both of the above {D) None of these g~

et o St o

(A) g o TR (B) waes ok TR % FF2 | FF1|FF§ — Output

(©) st & D) ¥ § =i T (A) Parallel In Parallel Out (B) Serial In Serial Out
69 A combinational circuit is one in which the output depends on the - (C) Bellel In Serial Out (D) Serial E Par ﬁﬁm Out .

{A) Input combination at that time. e 5 ot A, R wrl §7ge UE WY A I q ooy Th-UE e wYe W 9 A 9

(B) Input combination and the previous output. farre <ot & Bew WX & wOe B SO ¥ 7

(C) Input combination at that time and the previous input combination. T

(D) Present output and the previous output. 1 “1“‘““_1

@WW&%@%WWWW%— FF2 | FF1 | FRO|- stege

(A) 3% g99 & TRy dOeE 9T |

(B) e wimm ol few Frfw o | (A) T9ET 39 TEET TR (B) o &5 9o amee

(C) =@ 99y & ey o aur frew fEyr guiem ox | (C) guie & 9o arge (D) 9% 5% gEET oSe

(D) = Frfw @ Rew e o
74 A shift register in which the output of the last flip-flop is connected to the input of

76 A decoder with four inputs can have a maximum of how many outputs ? i )
the first flip-flop is known as -

e et mel 9% 99 § Suer eifumay Owe emeeye Readr wRl ?

(A) 16 (B) 4 {A) Ring counter (B) Ripple counter
(©) 8 D) 32 (C) Parallel counter (D) BCD counter
5 e et fves arell AT w0 @) ST9eqe 99Y U0 Y T & e § 980
71 In digital logic, a counter is a device which - ‘ Bl ¥ o w7
(A) Counts the number of outputs. : (A) For s (B) fuw weex
(B) Stores the number of times of a particular event. (C) T wrieT (D) BCD ®m
(C) Stores the number of times a clock pulse rises and falls. ]
(D) Nﬁ?g of t'hess , 75  Which type of bond is present in semiconductors 7
fefem @it o, To &S @ TIB § W - \ : B a
. ; (A) lonic {(By Covalent
(A} W a’i{ W -66.? %ﬁ?ﬁ % § S 1 3 s 3 %+
. ) (C) Electrovalent (D) Co-ordinate
(B) foel fagw e @t dew w1 duled & © | srfenel © @FEEr €I B 7
(C) U Foi% 989 & S AR R & uwy @ g o gufta el ® . g ' ’ . .
(D) 3% ¥ w3 T8 (A) erafme (B) wEgaes
) (C) Toegiaa=e (D) wi-eiie

61_(1922)] < 14 LPT.O. 61_(1922)] 15 [ PT.O.



76  With increase of temperature, the collector current of a transistor -
(A} decreases (B) increases
{C) does not change (D) becomes zero

TUHT Foo UT IR @ UuEe urg e 9"~

(A) wEa ¥ (B) @W%
(C) emfefia war ¥ (D) = B W ¥

77 The transistor is said to be in quiescent state when -

A) It is unbiased

o

(B) No current flows through it

(C) No signal is applied to the input

(D) Emitter junction is not biased

iy gfRvey ‘ofw (Quiescent) e ¥ ¥ o) To@ o ¥ R -
(A) oFEEE ¥

(B) [ ¥R WAT® Tl §

(C) 3R W &g Rraw 781 @ ¥

(D) wewe Wi gog T8 R

78  What is the relation between ¢ and B of a transistor ?

TH R B Y o quT B R ey gy g & 7

_ _ B

(A) B = . B) © -B
: ——._m%_m ::.....-E.....
(Q} g"" T4+ (B) o 1 -

79 An Amplifier has a voltage gain of 100 V/V and a current gain of 1000 A/A. The

value of the power gain in decible is :

(A) 30 dB (B) 40 dB

(C) 50 dB (D) 60 dB

s way® ® 100 V/V & aees w19 8l 1000 A/A &1 97 @19 § | ok @ & SRyew
# A R —

(A) 30 39w (B) 40 =o=w

(C) 50 sHew (D) 60 sHT

61_(1922)] 16
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86 NCVT was set up by the Government of India in -

UTCT T % OB e wmy o F ey B oo
(A) 1956 (B) 1957
ACY 1959 (DY 1960

81  Full form of NCVT is -
{A) National Council on Vocational Training
(B) MNational Committee on Vocational Training
(C) National Committee for Vocational Training
(D)} None of these
TEELEALSL. W OqT A § -
(A) =oremiiie widtEe ot TS 9iwe
(B) =aahes aides w o ufly
(C) =ngafie uiew & e oy aifly
(D) T ¥ @ T8

82 Which hammer is made of wood ?
(A) Mallet (B) Ball Pzen hammer
(C) Straight Peen hammer (D) Cross Peen hammer

wHe! o ¥ g BE-E 7

(A) e (B) «@ 99 ¥
(C) B< 9 ¥9¢ (D) »ig 9% T

83 Which of the following tool is used to measure inside diameter of a cylindrical
object 7
(A) Plain Scriber (B) Inside Caliper
(C) Foot Rule (D) Spanner Set
e 0 ¥ mea oo el Raeteew eeiee B ST & T @Y Wi ¥ i enel ¥ 7

(A) = THEaT (B) wTuEs HEC
(€) Pz ww (D) &Y e
84 1 PF is equivalent to ~
| PF g ST & -
(A) 103 F (B) 10°°F
(C) 10°F (D) 10712 F

85 If current through a resistor is halved, wattage developed by it would be -
(A) halved (B) quadrupled

(C) cut to one fourth (D) doubled
e T TR % FR ST By onen Rear Wl ¥, O 599 B [eiea &) il ar gwar el
(A) el (B) = TR
(C) s GuR a% o9 (D) =
61_(1922)] == 17 [PTO




86 The units for Inductance and Capacitance are

(A Faraday, Henry
(C) Henry, Faraday

PRG e \3:?% Ty F R "@"&ﬁ%ﬁﬁ% -

(A) BT, T4
{rv} W 7, W:?

(B} Coulomb, Faraday
(D) Henry, Coulomb

(B) gars, HUS
(D) &4, gow

87 What is the colour code for 2 120+ 5% resistor 7

{A) Brown Black Red Gold
{(C) Violet Red Gold Silver

(B) Black Orange Gold Gold
(D) Brown Blue Red Silver

1kQ+ 5% o9 & Uiy & S &% = 80 ¢

(A) U & T gae ]
(C) i @ geq gl

88 Inductive reactance is equivalent to -

@ IET W ged W § -

(A) 2nfL

(C) 2n/L

89 A soldering iron "bit" is made of -
{(A) Brass
(C) Steel
(&) dew
(C) 2=

(B) @ AN g0 R

(D) wT e @ G

(B) 2n/R

D) we

(B) Tin

{D) Copper
CRCEIRCHE

B) f

(D) it

90 In soldering, which flux is generally used for silver ?

(A) Ammonium Chloride
(C) Hydrochloride

a

(B) Hydrochloric Acid
(D) Zinc Chloride

gl ¥, o9 & Y gme: g wew sm W fear Wi ¥ 7

(A) i wwoss
(C) wTEgemEs

61_(1922)] ==

(B) smermiia s
(D) N& =@sEs
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91 The shape of surface mount resistor is -
{(A) Oval (B) Circula
(C) Square (D) Rectangular
HY WIS WY W eI HE TR ¥ 7
(A) sfEmeTe (B) W@
(C) =msr (D) engams
92 The full form of SMD is -
(A) Surface Mount Device (B} Short Mount Device
(C) Surface Missing Device (D) Surface Mount Diode
SMD & 9 1 & -
(A) TTHE ¥EwE SO (B) o wewe fumw
(C) wihe ey Rarg (D) TCHY A S
93 Heat for soldering process is supplied by -
{A) Soldering iron {B) Induction furnace
(C) Electric resistance method (D) Any of these
At B yisw & WY T @ el BT B R E
(A) desfor emae (B) <zavF waE
(C) fre wRre Ry D) = § B @
94 The purpose of using flux in soldering isto _________
(A) Increase fluidity of solder metal (B) Fill up gaps left in a bad joint
(C) Prevent oxides forming (D) None of these
qesiiy ¥ Tad B S99 S %Y 9eyd ¥ -
(A) desT uig & aea SgT (B) §( ¥I® ¥ W @ & T
(C) oferiss §99 € 99T (D) T% ¢ »E wEl
95  Which among the below mentioned packages does not belong to the category of
"small outline package" ?
(A) SO (By S0P
(C) 8OT (D) SON
o R T e F B oy wEr S @ oo & weRe T8 ¥ 7
(A) T (B) wa.siglL
(C) Tg.enin. (D) wg.ehO.
61_(1922)] == i9 [ PT.0.



86 What is the thickness of base material in flexible PCBs 7

o,

(Ay 0.1 mm

e

.

(Cy 10 mm

o,

A e & PCBs ¥ amury gy
(A) 0.1 P
(C) 10 fed

97 The components in a PCB are connected by -

(A) Copper track
(C) Aluminium wire

(B} Copper wire
(D) Iron wire

e PCB & oo e o @ s g s s € 7

(A) BT 3B

(C) wwghfrm ar

98 A relay is
{A) A mechanical switch
(C) An electromechanical swiich
T @ ¥
(A) s uife Re=

(C) ww fagaaite few

(B) ®lUx @Ix
(D) ®® & A

(B} An electronic switch
(D) None of these

(B) 1 wwie feg
(D) T & =g 7

99  Which of the following represents double pole single throw switch ?

P ddsru s R e e welesm ¥ 7

(A) o
© : ’

160 The frequency of an AC signal is 50 Hz. Find its time period.

af T o R o engia 50 Hz ¥ o S eTeaedn &1 o1 9 BT 7

(A)y 0.02 sec
(C) 50 sec

61_(1922)] ==

(B) 0.2 sec
(D) 20 sec
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(A) Kota

‘ (C) Dausa

(B) Sawai Madhopur

(D) Alwar

2

. FoC
T WY uvew e O 8 B

(A) ®E
(C) T

b O o - D
r W g e W Wy g ¢

B) garg #E

102 In which wild life sanctuary the endangered flying squirrels are found 7

(A) Van Vihar
(C) Desert National Park

(B3} Sitamata
(D) WNahargarh

HEA-Y T g oW ¥ deerg ggd Prshal fed € 7

(A) a9 B
(C) UST 76 SuF

1063 Which pair is not correct ?
Lift project
(A) Kanwar Sen Lift Canal
(B) Gandheli - Sahawa
Lift Project
(C) Rajiv Gandhi Lift Canal
(D) Gajner Lift Canal Project
Far g T E
oo afEe
(A) FHIC 7 TR 7w
(B) o weEar fuwe WEy
(C) Tl 7ie) fwe 8%

(D) 7 e ¢ gRaiem

Néz:;lia;;giiﬁ{
TEE

B
b

o

N
N’

Supply drinking water fo
(1) Bikaner

R

(iiy Churu

(iii) Jaisalmer

(iv) Nagaur

YA IUEH &9
() Swex
(i) g&
(ill) FrEEER
(iv) =R

164 The district in Rajasthan having its boundary with the U.P. and M.P. states, is :

(A) Banswara
(C} Dholpur

(B} Bharatpur
(D) Sawai Madhopur

TORUTT T (T O T YRy 9 ULy Uy % 9y P TEdr ¥, 9% &

(A) wEgEr
(C) €rgR

61_(1922)] =

(B) wayx
(D) wars ey
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165

168

The river on which Meja Dam has been constructed is -

{A) Kothar (B) Banas
(C) Bedach (D) Mansi
g waw sfy = ¥, 98 ¥ -

(A) BRI (B) wTE
(C) s=1 (D) ==Er

In which district of Rajasthan Degana mines are located 7
(A Alwar (B) Banswara
{C) Kota (D) Nagaur

ST @ e % e R ¥ feg ¥ 7

(A) FEy (B) sfgamr
(C) @& (D) P

Chand Baori is located in which district of Rajasthan 7

(A} Alwar (B) Dausa
(C) Jaipur (D) Tonk

e TrES] T & oy e ¥ fug ¥ 7

(A) em@EX (B) =r&

(C) vyt D) %

Where is Bhim-Sagar Irrigation project located in Rajasthan ?
(A) Kota (B) Bundi

(C) Baran (D) Jhalawar

T H e R e wef Rag g 7

(A) ®e ®) &

(C) @ (D) wwEE

Name the important cattle breed of Jaisalmer district -
(A) Gir (B) Tharparkar
(C) Kankrej (D) Rathi
e N @1 ge 7asl @ T @ 99 i -

(A) P (B) gr{qiiax
(©) wwe (D) WX

' Desert Development Programme (DDP) was launched in :
(A) 1985-86 (B) 1977-78

(C) 1974-75 (D) 1966-67
& fyee wrwd (SN @ Rear o

(A) 1985-86 (B) 1977-78 ¥
(C) 1974-75 & (D) 1966-67 &

61_(1922)] = 22
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114

The total length of Indira Gandhi main Canal is -
{A) 204 km (B) 445 km
(C) 826 km (D) 869 km
gfen el g wEY % weE ¥ -

(A) 204 B (BY 445 v
(L) 826 T5my (D) 869 e

Rain Water harvesting is beneficial for -

(A) Agriculture

{B) Hydro electricity

(C) Improvement of underground water level
(D) TIrrigation

el 5@ TIET TG T -

(A) o & fog

(B) v faga % fog

(C) ofrma o X ¥ gur & g

(D) Rierg & frg

'‘Atshwariya Oil Field' is located in the district of -
(A) Jaisalmer (B) Jodhpur
(C) Barmer (D) Jalore
Y oW & e e g ¥, w8 § -

(A) TEFR (B) wEyt

(C) wmsax (D) sWR

Match the following and select the correct answer using codes given below :
List - 1 List - 11

(1) Sandy Soil (i) Udaipur, Dungarpur

(2) Red Soil (iiy Bkaner, Jodhpur, Barmer

(3) Black Soil (itii) Tonk, Alwar, Dholpur

(4) Alluvial Soil (iv) Kota, Baran, Jhalawar

frr ) gARTT SR o 4R R W pe & v ¥ w8 e 9RR -
T - 1 @ - 10

() wEEg,

(2) w gar (i) IRFR, SEYR, SRR
(3) =@ g (i) ¥, @AY, GEYL
(4) @Bl TE (iv) @, T, s
Code / %2 ¢

oG 06 4
A G @ (iv) (i)
By ® G @) ()
© vy ) 3G @
O Gy ) @ (i)

61_(1922)] =4 23 [PTO.



115 In which direction the rainfall decreases in Rajasthan 7
{A) MNorth 1o South
(B) West to East
(C) MNorth-West to South-East
(D) South-South-West to North-East
e ¥ few R ¥ avl ww e el ¥ 7
(A) wu 9 wiger
(B) dfyew &
(C) wEr—ufyem ¥ hyo-gd
(D) wfr-afeor—aftem ¥ s

116 Choose the rivers flowing towards Arabian Sea -
(A) Sabarmati, Som, Mahi, Luni
(B) Chambal, Kothari, Banas, Beruch
(C) Kakni, Sabi, Ghaggar, Masurdi
(D) Chambal, Som, Ghaggar, Luni
T UFR & SR TEIRT BN O FRE) o gae e -
(A) w=TE, 9, ", G0
(B) =9, ®iowl, T4, ¥59
(C) w1, WR, FE, A
(D) uw=@, 99, TEY, T

117 Match List - I with List - II and select answer using code given below :

List - 1 List - 11
Aravalli Peaks Height in Metres
(1) Achalgarh (iy 920
(2) Taragarh (iy 792
(3) Kho (1ii) 1380
(4) Bhairach (iv) 873

T - Do gl - 118 gafea o o oo & 9o 99 /R W g2 @ S
- I - 10

e F e Feang der
(1) ormme (i) 920
(2) ToTE (i) 792
(3) @ (iii) 1380
4y = (iv) 873
Code / 32 -

o @ 6 W
(A) (i) (D) ) (i)
(B) (i) Gv) @) ()
) (v G @O (i)
O) vy G G ®

61_(1922)] = 24 [PT.O.
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b vz i Py £ T agne s Toder Toeng iy
Who was the Architect of Ranakpur Jain Temple 7
\

(A) Deepa (B) Mandan
(C) laita (D) Vastupala
TR T AT B OAREI B a7

(A T (By wusw
(C) v (D) =

Who was the Architect of Vijay Stambh (Victory Tower) at Chittor Fort 7
(A) Mandan (B) Jeewsa
(C) laita ( I

% N f . . -
TeTe g1 % [Ny w0 % aRgei sm A 7

o
]
i

e
o

{A) #vsd (B) <
(C) S (D) <
Who among the following inaugurated the third phase (United Rajasthan) of the

integration of Rajasthan 7

{(A) Jawaharlal Nehru (B) N. B. Gadgil

(Cy V. P Menon () P. Satyanarayan Rao

Tera™ R % gan X (G TeH) @ eeEed e 3 ¥ fees g ew T ?
(A) wEEEE TEw (B) w. &I T=hE

(C) & 9. 9= (D) & T "

Under whose leadership did the women participate in the Shekhawati Peasant
Movement 7

{A) Kishori Devi (B) Uttama Devi

(C) Rama Devi (D) Durga Devi

Reges wg@ ¥ SrEmErer feam ofgme o wfitemel ¥ wm fer ?

(A) TBemd = (B) wowr <

(C) T =& (D) Tt =&

To which area of Rajasthan did the noted women social reformer Chhagan Ben
belong 7

(A) Jodhpur (B) Jaipur

(Cy Udaipur (D) Bikaner

fremma Afeen a0 guTE BET USOE @ B 83§ okt o 7

(A) wiug (B) @R
(C) weagx (D) @Y

25 [PTO.




il is found in Hadoti Plateay 7

2]
Q.

N e . i e St o 128 Which type of ¢
123 Which of the following was made the capital of Matsya Union 7 o ybe

e (A) Laterite (B) Black
(A) Alwar (B) Bharatpur Vs (B) Bia
, (C) Sands (D) Alluvial
(C) Dhoulpur (D) Karouli (€) Sandy (D) Altuvial
. : .\ REIRT ¥ BT WHT S Te UR Wy ¥ ?

I w9 B Twary e § ¥ Y e w7 FOTC T WA A W W

: , (A) ®eUEe (B) =y
(l‘%} CREEY {E} %“W R ? e f
e 5 (C) w= (D) wEe
(C) 9" (D) == ‘

129 What is the name of the winds coming East in Rajasthan 7

124 Where was 'Rajasthan Sewa Sangh' founded in 1919 7

o fo
o A ; }y Purvai (By Loo
(A) Bijolia (B) Wardha (A) Purvai | 3? Loo
(C) Ajmer (D) Jaiput (C) Westerlies (D) Western Disturbance
1919 # TR S 9 B e 2 5 TE faen ¥ veraE ¥ g 9l wOT @ o e Wi § 7
(A) e (B) auf (A) R (B)
3

’ 13¢ Taragarh mountain pesk is part of which of the following Aravalll Regions 7
125 Who led Begun Peasant Movement ? & P P o s v

I s -
(A) Jamnalal Bajaj (B) Nayanuram {A) Nﬁ.ﬁﬁem (B) Ei@;ﬁthem
(C) Ramnarayan Choudhary (D) Arjunial Sethi (© Mﬁfdi‘“\ . o (D) Eastern
¥ Fram ol @ g ey Rear e 7 AT TEg 9 oTae! & elengg weet ¥ § fmer wm g 7
(A) TTEEEIE SIS (B) (A) sl (B) =fgoly
N C) =g )
(C) e Bl (D) e T8 (©) =8 (D) &

126 Who led Revolt of 1857 in Kota 2 131 G@éwar region is a part of which broad physiographic division of Rajasthan ?

A Zast Plai
(A) Rao Ramchand (B) Jaidayal and Mehrab Khan (? i’@s‘{ /g j‘ii Region 2} ;&% Pzag Region
(C) Heeralal and Heerachandra (D) Rawat Jodhsingh (C) Aravalli Region R i aaﬁ@aii egion
et ¥ 1857 ¥ fudie @ Sgewat @ ar 7 MEET Ta9T Tord™ & 59 geq -ongios v o Ren ¥ 7
E i . 5 A _“rz:gr ~§ 8 ‘

(A) TE IS (B) wueuw, NeUS @ i:) wivE Q{z T {B) ECl a;ﬁ Ll

o n R ) @g‘{‘g‘fﬁ?{- ; o7 I TETT -
(C) Erwmw, sRE= (D) Eg WuRiiE © “ (D) { GaaT

127 Vijaysingh Pathik is related to which movement ? 132 Which of the following pair is not correctly matched ?

A) Chambal — Parbati B i~ Sukri

(A) Jat Movement (B) Peasant Movement ;C; . amba Kﬁgbi j; ;ﬁ: isw
Banas - Kunt ahi - Sor

(C) Tribal Movement (D) Meo Movement . f unta B (D) Mahi om

fosraftis wfe Reg aide & wetem & 7 e & & @ g gifea 7 &

(A) W e (B) frar erdre (A) @@ - e B) T - T
| oY ) {: K - i D Fﬁﬁ - "{:ﬁ“‘"{
(C) wwemh arfEe (D) #a aierA (C) =™ Her (D) T

61.(1922)] = 27 [P
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134

Which is known as 'usar’ soils ?

{A} Salty and alkaline soils

(B) Soils on the bank of sea

(C) Soil located on the bank of rivers
(D) Soils located in mountainous regio
HEY a5 wEY ¥ 7

(A) el @ sl ger @

(B) wv & fmmy @l wer

(C) Rl & P oT Raa ga

(D) wdagd gael o Rew g

Match the following and select the correct answer using codes given below :
List - I List - I

{1y Chinkara (i) Jaati

(2) Godawan (ii) National Bird

3) Khejri (i) State Bird

{4) Peacock (iv) State Animal

e el Bifvg w PR RY 18 ool o wemar @ W ouX @ T g -
T - 1 ot - 11

(1) R (i)

(2) TireraT (i) w e
(3) dE (iil) o e
(4) = (iv) g Ty
Code / gz :

hH @ & &
Ay (v) G @O 3
B) @ Gy 3G ()
© Gv) () G @
(D) ) G Gv) )

In which agro-climatic region the Agriculture Research Institute, Mandore is located ?
(A) Transitional plain inland drainage

(B) Arid western plain

(C) Imrigated north-western plain

(D) Transitional plain of Luni Basin

BN IHEF B, WER By HR-wway wy ¥ Ry ¥

(A) o/ WY TR B O

(B) ¢ uiyemy fem

(C) TR soe—afiyedr fam

(D) = IR @1 ey fEe

61_(1922)] == 28 [PT.O.

136 Where is the world famous "Brahma Temple” located ?
{A) Kolayat (B) Pushkar
(Cy MNathdwara (D) Alwar
Ty wRre CwEn SR wEf Rem 7
(A) wEaa (B) g=
(Cy ~muEr (D) ewEy
137 Where is the Vijay Mandir Fort situated 7
(A) Karauli (B) Deeg
(C) Bayana (D) Shahbad
ferr WY fohe ol Ruw § 7
(A) =T By &m
(C) s (D) sE"
138 The famous Ganesh Mela (Fair) of Ranthambore is organised on .
(A) Shravan Shukla Chaturdashi (B) Bhadrapad Shukla Chaturthi
(C) Kartik Shukla Chaturthi (D) Ashwin Shukla Chaturdashi
TR WY WS T AW . o e ¥
(A) gmevr g Tgeal (B) wEwe g =gl
(C) =i yFa agdl (D) oriyew gow aqeh
139 The famous Rajasthani dancer "Gulabo™ is associated with which dance form ?
(A) Gair dance (B) Kalbeliya dance
(C) Valer dance (D) Ghoomar dance
TReE TR W o ey 9ey fhe Iw W ¥ 7
(A) (B) @R T
(©) W T (D) =<
140 Which of the following form of folk music, dance and drama belongs to eastern
Rajasthan ?
(A) Rammat (B) Nautanki
(Cy Turrakalangi () Gavari
W S, T O e @) ae-a R @ v ¥ geim o7
(A) =T (B) e
(C) gRiww (D) W=l
61_(1922)] =d= 29 [PT.O



141 Which of the following area is known for Dhundhari dialect 7

{A) Shekhawati
(C) laipur-Tonk

(B) Hadoti
)

(D) Marwar

e o ¥ s 89 ol Ol & R e e &0

(A) SrEmErey
(C) wug-Zdia

142 The Uniara style of painting is considered as a sub-style of which school of paintings 7

{A) Kishangarh
(Cy Marwar

(B) wER
(D) «@s

(B) Dhundhar
(D) Mewar

i & shrrg I = 5 Reds o so-9 & v § wmr s

(A) Reorrrg
(C) "EE

(B) o=
(D) wers

143 The main subject of Pichwai paintings is -

{A) War

(C) Shri Krishna Leela

e fa=de @ ge fawg & 7
A) 3=

(C) o gy e

(B) Royal Court (Rajdarbar)
(D) Love Context

(B) TwEER
(D) wog e

144 Who was the founder of Vishnoi sect 9

(A) Dhanna

(C) Dadu

Ty owET & Sume o 9 7
(A) ==

(C) =]

(B) Charandas
(D) Jambho

(B) wvE™
(D) wesy

143 On which hill is the Mehrangarh fort of Jodhpur situated ?

(A) Giri Sumer
(C) Beetli Toonk

(B) Bari Tekari
(D) Chidia Toonk

fpe weTEr W U & Azowe g Rew ¥ 7

(A) Pt g
(C) < T

61_(1922)] =

(B) ==& &0
(D) Ffsw 4=
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146 The Mehrangarh fort was built by

{A) Rao Maldev {B) Rao Chandsen
(C) Rao Jodha (D) Rao Secha
Yevme gt e Pt % fewmoar ¢

(A) e A (B) < ==

(C) T wren (DY v e

4 e

Who was appointed as the administrator of Jodhpur in 1574 A.D. under its occupation
by the Army of Akbar ?

[y
o
~J

(A) Yusuf Khan (B) Badayuni

(Cy Kalyanmal of Bikaner () Rai Singh of Bikaner

1574 €. ¥ et o T97 & ofiw % w1g WUy W uenes e Frgew fea e 7
(A) 3ge @ (B) wEwH

(C) T®FT & HEOTEE (D) S&FT ¥ TR

148 The Chauhans of Ajmer are also known as the Chauhans of .

(A) Jalore (B) Ranthambhor

(C) Sapadalaksha (D) Nadole

ST G AEE B % G % A W A W e §
(A) SR (B) ToreiR

(C) wurws (D) =Ew

149 "Evidence of Ploughed field" is related to which civilization 7

(A) Abar (B) Bagor
(C) Kalibanga (D) Balathal
T TT TG b wiew Rew g ¥ gEiew ¥ 7

(A) ares (B) s
(C) wmrET (D) Tw

159 Which inscription mentions Chauhans as Vatsagotra Brahmins 7
(A) Bijolian Inscription (B) Neminath Inscription

(C)y Chirwa Inscription (D) Ranakpur Inscription

forw Rre # el @ Sy g S8 AT E 7

(A) Reiral Reme (B) =+mmy B

(C) dren Rewg (D) TR REme

61_(1922)] == 31 [PT.O.



